EELE445-S15 Homework Assignment 3- 10 points

e Grading: -0.5 point per error

HW3
Set | Problem Principle

3 2-61 Use 2-89

For 2-61: let A=1, b/T=.2, find

Additional 1) The total power from the time waveform

work with 2) The percent of total power in the fundamental

3 | prob 2-61 3) The percent of total power just the AC components
repetitive triangle- (observe the 1/n® spectrum compared

3 2-70 to square wave 1/n )
3 2-80 Energy of a pulse through a filter
3 2-85 comb filter- used in radar and digital communications
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Alternacely, computing FS using che FET via (2-187),
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Voltage SpectCrum = Power Spectral Density
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